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���� .HVLPSXODQ�

%HUGDVDUNDQ�SHQHOLWLDQ�\DQJ�WHODK�GLODNXNDQ�WHUGDSDW�EHEHUDSD�NHVLPSXODQ�

VHEDJDL�EHULNXW��

�� 3HPRGHODQ� 6XQJDL� :LQRQJR� GDODP� 606� $48$9(2� ����� GLODNXNDQ�

GHQJDQ�0HQJJXQDNDQ�6LPXODVL�50$��GDSDW�PHQJKDVLONDQ�QLODL�YHORFLW\�

PDJ��YHORFLW\��ZDWHU�GHSW�GDQ�ZDWHU�VXUIDFH�HOHYDWLRQ��9LVXDO�\DQJ�GLSHUROHK�

SDGD�SHPRGHODQ�PHPSHUOLKDWNDQ�ZDWHU�VXUIDFH�HOHYDWLRQ�SDGD�PRGHO�VXQJDL�

PHPLOLNL�PXND�DLU�\DQJ�PHQXUXQ�GDUL�KXOX�NH�KLOLU�VHVXDL�GHQJDQ�NHDGDDQ�

GDVDU�VXQJDL�SDGD�WDPSLODQ�SRWRQJDQ�PHPDQMDQJ�

�� +DVLO�DQDOLVLV�NDSDVLWDV�WDPSDQJ�GLGDSDWNDQ�QLODL�GHELW�NDSDVLWDV�WDPSDQJ�

WLDS� VHJPHQ� GDODP� WLDS� EDJLDQ��'HELW� SDGD� VXQJDL� EDJLDQ� KXOX�PHPLOLNL�

GHELW�VHEHVDU��� Pñ�V GDQ����Pñ�V�3DGD�VXQJDL�EDJLDQ�WHQJDK PHPLOLNL�GHELW�

VHEHVDU� ����Pñ�V�� ����Pñ�V� GDQ� ��� Pñ�V�� VHGDQJNDQ� VXQJDL� EDJLDQ� KLOLU�

PHPLOLNL�GHELW�VHEHVDU��� Pñ�V�GDQ �� Pñ�V

�� +DVLO� SHPRGHODQ� PHQXQMXNNDQ� EDKZD� 6XQJDL� :LQRQJR� PHPSXQ\DL�

NDSDVLWDV� \DQJ� EHUEHGD�EHGD� GL� WLDS VHJPHQ�� KDO� LQL� WHUJDQWXQJ� GDUL�

SHQDPSDQJ� VXQJDL� \DQJ� DGD�� %HUGDVDUNDQ� KDVLO� SHPRGHODQ�� 6XQJDL��

:LQRQJR�PHPSXQ\DL�GHELW�NDSDVLWDV�WDPSDQJ�\DQJ�EHUEHGD�� EHGD���'HELW�

NDSDVLWDV�WDPSDQJ�6XQJDL�:LQRQJR�PHQGHNDWL NDOD�XODQJ���WDKXQ�GDQ����

WDKXQ�

���� 6DUDQ�

%HUGDVDUNDQ�KDVLO� SHQHOLWLDQ� DQDOLVLV� NDSDVLWDV� WDPSDQJ�6XQJDL�:LQRQJR�

PHQJJXQDNDQ�VRIWZDUH�606 $48$9(2������\DQJ�WHODK�GLODNXNDQ�PDND�WHUGDSDW�

VDUDQ�GDQ�KDO�\DQJ�KDUXV�GLSHUKDWLNDQ��DGDSXQ�VDUDQ�\DQJ�GDSDW�GLEHULNDQ�XQWXN�

SHQHOLWLDQ�VHODQMXWQ\D��VDUDQ�\DQJ�GLEHULNDQ�DGDODK�VHEDJDL�EHULNXW��

�� 3HUOX� DGDQ\D� NDOLEUDVL� SDUDPHWHU� VLPXODVL� VHKLQJJD� GLSHUROHK� DNXUDVL�

SHPRGHODQ�\DQJ�OHELK�EDLN�

�� 3HUOX�GLODNXNDQ�SHQHOLWLDQ�OHELK�ODQMXW�GHQJDQ�SHQDPSDQJ�VXQJDL�\DQJ�OHELK�

GHWDLO�


